3 (Sem-5) ECO M 2

2018

ECONOMICS
( Major )
Paper : 5.2

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

( For Arts )
( Basic Statistics for Economics )

1. Answer the following questions : 1x7=7
wero il eppiyes Teq fa -

(a) Which measure of central tendency is
known as positional average?

@R LRIOR (PG (T TS 9T el
&1 AR ?
(b) What is the SD of the following values?
] TACAIRR T3 e 2
55,5,5

A9/202 ( Turn Over )



(2)

(3)

If covariance between X and Y variables

(c) State the relationship amongst mean, (c)
median and mode of a perfectly is 12 and the variances of X and Y
Symmetrical frequency distribution. are 16 and 9 respectively, then find
9 ST TRER ESECRUOR] T4, the correlation coefficient between X
TG BAF IR A& o4 farayp | and Y (ryy)-
X
(d) When are the two lines of regression i R X W YT R 12 3 AR
perpendicular to each other? & Y3 PR G 16 HF 9 W, (9E X HF
TR I YO (AT *iqofq a7 23 2 Y3 AT BT (ryy ) Sferedn |
Pl v .
C o Senye (d) Show that E(J=c¢, where c is a

constant.

SA T E(Q =c, TS ¢ 961 459 |

r?-q & 9 o g7 9
(/) What is partial correlation?
R STt % 9

(g If Ais any event and P(A) =1, what will .

i i three) :
be the nature of the event Ao 3. Answer the following questions (any )

5x3=15

wﬁAaﬁﬁ@mﬁWWP{Ahlw,aﬁm

AT o3 5 7730 oo eppiyRe ad i (R e fefin) -

(a) Compute inter-qua_rtile range from the
following data :

OeTq O *{1 HPhpF IR S 0

2. Answer the following questions :
O 2PPTYRY Teq firgy

(@) For any two une

2x4=8

qual positive numbers q Class Interval : 0-10 10-20 20-30 30—40 40-50

%ﬂdﬁb, e gl ou cofl Rre
CPICT 4T3 ¢ . 15 6
W a 9¢ p-g Frequency : 2 17 " 120
PRI TN @AM > Gy AT
(b) What is the probabilit
: th .
year will contain 53 Sj;nde;ty:?non_leap () In a 5-match One-Day International

(ODI) series involving India, two veteran
batsmen made the following scores :

( Turn Over )

O I e
foame 2
A9/202
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(4)

ST S (oAl @R SEEAEE XRIAR S
(e R T @R e A A
(scores) ©&T® f7d1 494 :

Player Score [ T

c7a | 1st oDI|2nd ODI 3rd ODI| 4th ODI| 5th ODI
S. Tendulkar] 65 120 15 95 25
R. Dravid 46 69 80 65 45

(c)

(d)

A9/202

Identify the better batsman and _the
more consistent batsman in that series.

RIS e (O @’ o e
R @ohe @R &g forre <41 |

Prove that Karl Pearson’s Correla}tion
coefficient r lies between —1 and +1, 1.€-

-1<r<+1

21 <41 G T Prcaoera s @k ()74
-1 9 +17 foege 9w, wefe

-1<r<+1

In a particular case, the c.:)efficifirlt
of .non—determination involving
variables X and Y was found to be 36%-

The regression coefficient byy %o
found to be (~2-0). What would be 1°

value of byy in that case?

A B Rem s 5 e XWY;
SR BN 36% (o gaifee | :
BT byy =-2-0 (@Y oifdet | €2 i
T S B by, oy w1 1 237

( Contin®

d)

(e)

4. Answer the following questions :

(S)

In a city, there are 540 shops, some of
them are cooperatives, the others are
privately owned. The probability that a
shop selected randomly is privately
owned is 25/27. How many shops in the
city are cooperative?

3 529 5403 (TR [FPRGT TR o
YMER AfETe TR | gfeTe Jieeas
G (IR Afererd FEve @[ BRI
25/27 T TWEIR G WG (e
A ?

10x3=30

oS il epeTyEd Ted fin

(a)

A9/202

Either | 24

Define median. Compute the median
age from the following distribution :

TR R | wew IRERel [ReeeR o[
T T S 90

Age Group (in years) No. of persons
PR o7 (I5TS) JreEq R
0-15 7
15-30 15
30-45 20
45-60 13
60 and above 5]

What difficulty will you face if you are
asked to find the arithmetic mean of the
above distribution? 2+6+2=10

( Turn Over )



(6)

@vfaq S o1 [ e e Sfeme e =,
oft 3 TP TR T2

Or / JHI
What is dispersion? What are its various

measures? Compute the mean deviation

from mean of the following data :
2+2+6=10

fvem WA 7 =R R e & 2
T OYA [l T4 Ee o foen AT

9 :
Marks : 0-10 10-20 20-30 3040 40-50
79
No. of students : 2 7 9 6 4
B4 R
(b) Either | 2

What is meant by correlation betweer
two variables? What does it measure?
From the data given below, find the

number of pairs of values of (X, Y) : 0
2+2+6=1

1 SRR Ted TR e qem 0 % e e ?
e Tl U ORI (X, V)3 feumeae W SR
folefy <1

rxy =0-5, Zxy =120, £x2 =90
standard deviation of Y series

(Y [ 9= f[{55) 6, =8

Where (379), x=X-X,y=v-Y.
tinued)

()

A9/202

(7))

Or / 941

Two lines of regression are
4x-5y+30=0
20x-9y-107=0

TO[E SRR (311 (=R
4x-5y+30=0
20x-9y-107 =0
Identify the regression line of ¥ on X
and regression line of X on Y. Also

calculate the correlation coefficient (ryy)
therefrom. 6+4=10

TR FEOE X-S{ €4S Y9 SR W
(FEE Y 89F6 X-99 TEET @4 = e
341 | S O {2 RS QT (ryy ) I TH
fRefg 3411

Either / 2§
(i) Define : 6

sige fran
(1) Random experiment

o <1
(2) Sample space

el e
(3) Event

o1

with the help of one example each.

TSR OIS SHIZAH (1S |
(TumOver}



(8) (9]

(i) Let A and B be the two possible ( For Science )

s of an experiment and
0utco;:: p ( Introduction to Econometrics )
supp

1 A U B <0 A e Bl O 5. Answer the following questions : 1x7=7
[ 41
wore faa PR Taq fram
P(A)=0-4, P(AUB)=0-7 and
P(B)=p (a) Define degrees of freedom.
Frow @[ g fran |

For what value of p—
p3 & T71 IE— (b) What do you call the error of accepting a
false hypothesis?

clusive;
(1) Aand Bare mutually exc <51 T 9T 2% TR SHOR SR R AW

ATE B *RoR g Bl 29 frs 2
(2) A and B are independent? {c) What is partial correlation?
A% BTeq 237 4 i T 3 2

(d) Define econometrics.
wefafes st fr

For a single-tailed test, what are the
critical values of z at 1% and 5% levels
of significance?

Or/ 941

Explain Poisson distribution with 1t
probability mass function. Give two (e)
practical examples where Poisson
distribution can be used. Write thré€

important properties of this distributio® g G- R RFe 23 1% FE 5% AL
5+2+3 &9 T 3 2
o 359 T el v e (pmd) ( 1 n=25 02 =25and X =25, then find
e 17 F9 | 2’6 %9 Qe @[l 11%[ ElicE the standard error of X.
ﬁ?‘ﬁmlﬂ?{?m%ﬁﬁﬁmwml ‘ﬂ_ﬁn:QS, 02=25W}_(=255§, (03
X3 TWs @6 fefy
A9/202 .
A9/202 (Conﬂ'ﬂ"ed} ( oG



(10) (11)

(g) State whether'the following statement is (d) Name the problems that arise in the

true or false : estimation of a linear regression model,

e Sfes wa (7 SRem oead 4 when the assumptions ofE(u?) =02 and
In a multiple regression analysis, E(u; u;)=0 are violated. 1+1=2
the correlation among  the R 9 9
explanatory variables is termed as = SfSRMT Efuf) =0 Sk
multicollinearity. E@u;)=0 Toee a1 =W, QRE T
2 Y RORTS, NS G I TS Tea a1 FICERE A R |
e 431 TFFS ISPl & P (e) State the conditions for the validity of
29 | X~ test. )

x? RV 3R A 71 56 Brad 9 |

6. Answer any four of the following questions :
ox47 () State the general relationship between
consumption C and disposable income Y

woTe i 2rprged R e SifReR T i - iy ;
in (i) exact linear form and (ii) stochastic
(a) What is meant by an unbiased form. 1+1=2
estimator? How is bias defined? 1+17 G C ¥ JAEEF S Y-9 A& YR
Wﬂ@aﬂwﬁwqwmﬁg—\ﬁﬂw T (1) /2 QRS e U (i) B
Rovz ol 22 7S TCEY 91 |
bh) Distinguish between parameter and 7, 1 :
i statistig:. What is t}I:e relationship Answer any three of the following QUESUOHZZS A
o} 1+1’ S
between the twor ) woTS PP & SFH e
o i aforfed e e f 1 PR il enth Y .
Ao e T 2 Dutline the principle of maximum
y - likelihood method of estimation. 5
() What do youdmean by linearity in af;‘f SR A ST ~Ffecor Cadl fe 4 1
iables and linearity in the P . Tha
Vmaé‘:z.rsgs i 1+1 (b) S;Stlngulsh between one-tailed test and
! o-tailed test. 5
o S AR T et (R LA oz
o fa-epr *RIFR T A1
et & 3o fosa ferar | Ee
. 02



(c)

(d)

(e)

A9/202

(12)

Mention the major steps that are to be
followed in the procedure for testing a
hypothesis.

oFF A TEed A A SR wen A4

CEHACIA SCEY T4 |

(i) Prove that the sample mean is an
unbiased estimate of the population
mean.
a9 39 @ afond T Carg MR TR
G O ST |

(i) Prove that sample variance
computed using the formula
s2.  2X-X)°
n-1

is an unbiased estimator of the

population variance ¢ 2.
o491 991 (¥
S2 = E(X “}?)2

n-1
S A R A T ool 2P (R
B 2P 629 §% e SGE |

The number of heart attacks suffered bY
males and females of various age group®
in a city is given by the following
contingency table. Test at the 1% l€V€
of significance the hypothesis that
age and sex are independent in
occurrence of heart attacks :

( Contint

cn

KD

(13)

<7 TR Rifen refe Qb «ibe Aee
Tl T WRP) AZT A T TG AT
fran Carm | b G oA I WE R
TOT-AFHCD! 1% TFel T 4w 1 :

Age group Male Female
TP R 7 28
<30 10 10
30-60 50 30
>60 30 20

[ 2 =9-21 with ¢ =0-01 and d.f.=2]

[00=0-019% d.f.=27% 3 =9-21]

8. Answer any three of the following questions :

(@)

(b)

{

A
ol 9/202

10x3=30

, WWWQWWWW

For a linear regression model
Y; =a+BX; +U;, obtain the OLS
estimates of o and p and show that p is

the Best Linear Unbiased Estimate
(BLUE). 3+7=10

9Ol @RT g Wi Y =o+pX; +US
T 0. WF B-3 OLS Wl Tfeted) B (Y&l
ﬂﬁm@ﬁhﬁaﬁﬁmiawn

In a linear regression model, for what
reasons is the random disturbance

term included? What are various

assumptions made about the disturbance

term in this model? 3+7=10
( Turn Over)



(14)

5 FRS (R SR WIS AR Y R | (d)
UPHE 91 T ? @B WS [y oW TS A
fifen sfsqmermR & &2 i

(c) Define normal distribution and standard
normal distribution. State the conditions
under which a binomial distribution
tends to a normal distribution.

The average test marks in a particular
class is 79 and the standard deviation is
5. If the marks are distributed normally,
then how many students in a class of
200 did not receive marks between 75 ! (e)

and 82? Given
P(0<Z<0-7)=0-2580
P0<Z<0-8=0-2881
P0<Z<0-6)=0-2257

where Z is a standard normal variate.
; 2+4+4=10
m a‘%a%zjw TAF 2PIE IBa9 RS
AT 1 T2 IBC PTG 5101 aifs 31 7672
@Y 40
a0 2 @R o 4w T vd 79 W
e e (2 5. e = SRR
A5e =, @ @bl 200 y@omIR EA©
(P35 Fg-FarE 75 U 827 fowgw @
EATC 2 ol s
P[OSZSO-7]=0.2580
P0<Z<0-8=0.2881
P(OSZSO-6)=0.2257
T8 Z (2R T I e |

A9/209

A9/202 ( ccntiﬂued)

(15)

What is an estimator? Explain with
illustration, the concepts of (i) point
estimation and (i) interval estimation.
With the usual notations, find p for a
binomial random variable X if n =6 and
if 9P(X =4)=P(X =2). 1+2+2+5=
e 7 THReeE e (i) [ Sieen o
(it) SEIE HFEAN] RPTHR T F0 | 5O’
Tz ez 9ol faom TvRe 541¢ X-9 AW p
Ay 31 30 n = 6 o I

9P(X =4)=P(X =2)

(i) In a two-variable linear regression
model, show how the sum of the
squares is decomposed to obtain
the coefficient of determination.

B f-vere GRE SWeEET SRS
@ W e Rege I R
BT Sfeted = O (STl |

(i) The intelligence quotients (IQs) of
16 students from one area of a city
showed o mean jofFlQ7endgs
standard deviation of 10. While the
IQs of 14 students from another
area of the city showed a mean of
112 and a standard deviation of 8.
Is there a significant difference
between the 1Qs of the two groups
at significance levels of (1) 001
and (2) 0-05?

[tg.q =2-76 for 28 di and
to.os =205 for 28 d.f.]

(Tum O

10

6

yer /

gl



(16 )

G TRFAE 9B SRR 16 & [a-a
TR M4 107 &F T+ R{5em 10
CTYAIRCR | AR TR o oy
SR 14% RG-RAR J@IHE TG 112
SIF e Roem 8 crgataem | TCHI! 7E1eq
TR XS YT 79 (1) 0-01 W=
(2) 0-05% =ifoyef sf1afepy e 9

[28 df3 I® ty,, =2.76 w=
28 dfqm to,os =205]

(1 What are meant by (i) testing g
hypothesis, (ii) the level of significance
and (i) the level of confidence? A random
sample of 25 with a mean of 80 and
a standard deviation of 30 is taken
from a population of 1000 that is
normally distributed. Find 959, and
99% confidence intervals for the

unknown population mean. What does
the difference in the results

indicate?
[ to.025 =2-064 for 24 d.f. and
to.005 =2 797 for 24 d.f. | 2+2+2+4=10

(i) 2% R, (i) Ml T (iii) ety

el %{m?mwmaf%moo
wmgf?aﬁﬁmwxwﬁ

WWW@WSXWSOWWW
30. S&F R TR g 95% ©F 999
WW%@WIWmmﬁ;

et

[ 24 d.f4 A to,()gs =2. 064 ¢ 24 d.f3
A tg.005 =2 797 ]

* & %k
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3 (Sem-5) ECO M 3

2018

ECONOMICS
( Major )
Baper: 5.3
( Introduction to Environmental Economics )

Full Marks : 60
Time : 3 hours

- The figures in the margin indicate Jull marks
Jfor the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x7=7

WWWWW

(a) Why is the demand for environmental
quality income-elastic?

SPTA ARR B Ry SR-Refewers o
(b) Define ecology.

R e fiy |

(c) What is environmental crisis?
RNy 550 5 2

(d) What is market failure?
IR Reperey & 9

(e) Give the meaning of marginal external
cost.

AfeE AR 7@ e o
A9/203 ( Turn Over )



(2) (3)

& %

(f/, Mention one feature of public good. (b) What are the aims and objectives of
ST I G5y SRS TEs EX | £ 3 environmental economics?

(@) Give the full form of OECD, ARCT S 787 i S f g
OECD 3 5791 Fiv(eh1 gy | (0 What do you mean by opportunity

: ! cost of obtaining more environmental
2. Answer the following questions : 2x4=8 quality? Explain with the help of

TS frgl PRI T o production possibility frontier.

(a) Write two limitations of pollution tax ag S AR SegtoR TR T A S
an instrument to reduce pollytioy. T 7 TRAT FORAN! 19 TS <01 <641 |
m B | ot IR 399 E{B] (d) What are common property resources?

Mention the features of common

(b) Is environment a  public good? property resources.

Comment. : - > TG et emER f o e
ﬁﬁmﬂﬁnwwm?mm, ' TeeifGor o3 CARiEPTE Sra <= |
Mention tw : o

(c) Men 1ton © advantages of €conomijc ¥ () What do you mean by externality?
Incentives over commang and contro] Disihimich - Lol i d
approach. is ztllgms ; ;}geen positive an

negative externalities.
SR S R el
51 341 S 1 SRS oo BRI I S C RS o S —
M TeR e ey <e41 |
(d) Mention two reasons of climate change ,
G ARG ‘iBT PRI gy 90 4. Answer any three of the following questions :
10x3=30
. An r any three of the fi : ;
3 swer any ollowing Questions - TS il 1 e it ep Taw iy
were fral i e fofaisy A T figy Sx3=1g (@) Explain how material balance model
" ; ; shows interlinkage between economy
(a) 2::33 briefly Cnvironmenty) Kuznets and environment.
ﬁﬁ]' s g TR el wE @ee @l ww
Lk TR B S o MR R SR @R, 10T <9 |
e
A9/203 - A9/203 { Turn Over )
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(4)

(b) Explain diagrammatically how market
mechanism fails to allocate resources
efficiently in the presence of exter-
nalities.

s foag ERe MmN @ TR
SRS @I TR T [l CRae
T 9T [T |

(c) Critically discuss the command and

control approach as a policy of pollution
control.

e g o1 S oo s e e
[&fSq GO1 FACEAGAIF SO SISRCE |

(d) What is global warming? Discuss the
causes and evil effects of global
warming.

TR Txel 57 (MEPR TweR IR
PSR SCAGAT 1 |

(e) Explain the various incentive-based
approaches as pollution control policies,
e g WS Rowe [fon srgeramEe
RICEURIENISTIN!

() Write short notes on the following :
TS N 8o 5 (Gt oy
() Problem of free riding
T G F
(i) Tragedy of commons

AT HME ST G5o7]

L8 & ¢
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3 (Sem-5) ECO M 4

2018

ECONOMICS
( Major )
Paper: 5.4

( International Trade : Theory and Policy )

Full Marks : 60

Time : 3 hours

The figures in the mafgin indicate full marks
Jor the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x7=7
o PTIR Te for

fa) Who developed the concept of income
terms of trade?

GO qfeTsy ST (Ie ST e 2
(b) Define offer curve.
ST I 3i5ET i |
(c) Write True or False :
RENCiUREREN

Inelastic reciprocal demand means
favourable terms of trade of a country.
SRR Al vz op1 Q9T S
e vEF IR |

A9/204 ( Turn Over )



(2)

(d) What is mixing quota?
RS =R Fiee 9

(e) Who called the utility terms of trade as
the true terms of trade?
G S e vée
W& e 5%
fab1cer = fafee 2 3
() Define free trade.
T@ Tiiders sige f |

(g) State the optimum tariff formula

I 8% ol for |

2. Answer the following questions -
o] 2T e fer

(a) Distinguish between g
ad valorem tariff.

dfeTefefes =
e o | T PIRRS v e

(b) How changes in tech
nol
terms of trade of g COuntOr?:r) affect the

Q3 (PR T 5 ot
eIre 4 7 e etz R

c) What i
(c) Is meant by elastici
curve?

451 247 75 R q
(d) Give two important 4 .
that tariff is better
an
A AT oy e
aFgd 3% fra | GubEy

pecific tariff and

ty of an offer

A9/204
( Continued )

2% 4=8
-

,

(3)

3. Answer any three of the following questions :

5x3=15

@ P R e fofbr Ted o

(@)

(b)

(c)

(d)

(e)

(a)

Explain what happens to the validity of
Heckscher-Ohlin theory in case of
factor-intensity reversal.

TAMH-REN ReReed (RIS (IN-
' foe ©gd (ageR WO, T A

Explain Leontief paradox.

foreioEd SLEee] TN T4 |

Briefly discuss the gains from

international trade.

TEEfes qMER JRATIE B SCEn=1 T |

Analyze the productivity-linked terms of
trade by using usual notations.

Fefe vIKaies iz IR IR TR
e g e TR Reme 79 |

Clearly state the classification of tariffs
on the basis of retaliation.

dfepE fRfes wst cfiffemm ~+EeE
et |

4. Answer the following questions : 10x3=30
T PR Teq fore
Critically discuss the comparative cost
advantage model. 10
TIEADTTOE PR R T SN0
el <941 |
( Turn Qver )
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(4)

Or / 9311
Define factor endowment. With a
suitable diagram, explain the price
criterion of modern theory. 2+8=10
Tomee Apde T i | Sorre foum st
{3 ©gq 11 A amm 40 |

(b) Explain how gains from trade is
distributed in terms of the Marshall-
Edgeworth offer curves. 10
BRI RUICERE Bl I e i Ol o SR
R e e e w1 =, s < |

Or / &% |

Elaborate the various arguments in
favour of protection. -

KT w4l f[fen ez 9o w1

(c) Discuss the various effects of import
quotas under partial equilibrium
analysis. 10
SR ST RS SR < e
fafen erereze REcy s 3= |

Or / 9241
Explain how the welfare of g country is

ensured with the help of an optimum
tariff structure.

T BT MU TS O 457 e fca

oS 28, M 40 |

* & %
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3 (Sem-5) ECOM 5

2018

ECONOMICS
( Major )

Paper':' 5.5
( History of Economic Thought )
Full Marks : 60
Time : 3 hours

The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese
1. Answer the following as directed : 1x7=7

wers fraReed ot wepicy Tee it -

(a) In Germany, Mercantilism was known
as

( Fill in the blank )

SNSRI AR S Calfe |
(<&l 312 o[ )

A9/205 ( Turn Over )



(2)

(b) Write the meaning of ‘single-tax system’

(c)

(d)

(e)

A9/205

as advocated by the physiocrats.

APFSATIICA TS 9 “999-39 JRE’]
o o141 |

David Ricardo was a contemporary of
, with whom he had a healthy
exchange of ideas.

( Fill in the blank )

cfos s’ 3 TR WIfRE, I
TS (98 wgaid o Ry $fifee |

(AN 572 =@ 4 )

Who started the Neo-Malthusian
Movement in England in 1820’s?

Spr309 IS CAYS (FICA TJ-TEL0T
I S FaARe 2

The term was replaced by the term
‘economics’ in the late 19th century.

( Fill in the blank )

e S IR et SdSify’
e RIS (2fR |

(1M 37 o€ 41 )

( Continued )

(g)

2. Answer the following questions in brief : 2x4=8

(3)

Mention one limitation of Say’s law of
markets.

(5’3 3w {87 9O SREe TrEy 99 |

Name the economist who combined and
modified the teaching of Smith, Malthus
and Ricardo.

g, wEem W Ry PRz @A
gFiqe W< SgenfEe +f:fEe 2

woTe fiql erpiyd oY Tes

(@)

(b)

(c)

A9/205

State the two Mercantilists ideas
approved by Keynes.

R WA SR YO SHERRER 4R_N
TrEd 90

Distinguish between Ricardian and
Marxian theory of value.

fRFTE’ % Il T g o iy Fefg
% |

State the Ricardian theory of rent.

RRIE’3 e wehl TrEy 90 |

( Turn Over )



(¢}

(S)

(d) According to Adam Smith, “Division of 5 (d) Explain the two kinds of check to
labour is limited mainly by the size of population growth  suggested by
the market”. Explain in brief. Malthus.

s IR We o ReRW e 9wRe TS orred ot SR R S
SR T[] SR | B 0 RUAURAIR
(e How did Ricardo discuss the

relationship between rent and price?
R @S T W R oo FF
Tl <20 ?

3. Answer any three of the following questions :
ox3=15
o 2PIeAd R e fofatr Teg i

fa) Explain the main tenets of
Mercantilism. -

SRR JoT MNSHIZ MR 344 | ]

4. Answer any three of the following questions :
10x3=30

wore fogn eppiged R e fofrbm e fra

(a) Discuss the physiocratic ideas of the
following :

woTo il SPleImd {RAPTIR SICeTsAl <41

(i Economic table
'::i

(i) Laissez-faire

(b) Distinguish between Mercantilists and
Physiocratic ideas.

WWWWWWWW
faefa 1 |

(c) Distinguish between Smithjan concept

of ‘value-in-use’ and yalie s
exchange’, ferzEes Ny TS
1w EElRe :Fﬂ’ e ‘ﬁ'ﬁw ‘Fﬂ"f QR (i) Net product
e A1(F ey 5 | T

i Bl

A9/205 ( Turn Over)
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(6) (7))

(iv) Taxation . % (e) Discuss the Say’s law of markets. How
did Malthus oppose Say’s law of

9 S market?

(v} Trade G'3 Jg@ [NREGI SEmA 91 qEA
qifeey @i ¢6°3 IR [T 21fS Ssife w(ife 2

(b) Critically evaluate the Malthusian (i Write a critical note on Smithian theory
theory of gluts. of distribution.

qTe 9
WQ:TW PR OGO TS o g Roed ©gq eoe Bl SR
(O &1 |

() “There was nothing original in the ideas - »
of J. S. Mill and that he just re-stated
the ideas of classical schoo].” Examine
the statement.

“ca. @b, e mcn;rsiza @ ool w3,
(STYCS A HES efiiifeg e
Tl R 17 ST oy ey | b

* % X

(d) What is surplus value? How did Marx
establish a relationship between
surplus  value andg technological
progress along with economjc develop-
ment? Explain in detaj],

Tge T 7 @EE M e
ﬁ@%%ﬂ%ﬁﬂ%&%ﬁﬁjz
FIA af=et ? =BF 0 347y | 2 I~
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3 (Sem-5) ECO M 6

2018

ECONOMICS
( Major )
Paper : 5.6

( Development Policy and the Indian Economy )

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
- Jfor the questions '

Answer either in English or in Assamese
.

1. Answer the following questions : L=7=F

eTo firal eRpTRS Ted fere

(a) What was the literacy rate of India
according to 2011 Census?
203d T (FRPEE 0o S[Eed IO 2{
e e 2

(b) Define per capita income.
TR SRR SigE fa |

(c) What is density of population?
A g f 2

(d) What is relative poverty?
weifEe wREel &2

(e) What is meant by Green Revolution?
o fRge gfera f& o ?
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(2) & L) ( 3)

(/) Mention one cause of industrial (b) Suggest five measures for reducing

unemployment in InC%iTa- rural unemployment in India.
SIEICE ] -
SEIc §Wm¢$ﬁ$ﬁﬁa PRI SCHY F0 | SReT AW el IR A SO e
(g9 What is microenterprise? S5CE |
=g Sl 2
' ' () Explain the role of agriculture in India’s
2. Answer the following questions : 2x4=8 economic development.
weTe fr 2pTgRd Bed fofa TREY GYATST SHITS PRI PR T I |
& What = blrthr:a iee th"t vas (d) Explain the measures taken by
birthrate of India according to 2011 food N
Census? ] Gmtemment to ensure food security in
o A F? 2053 B (R o Sed Y . India.
w4 39 9 =ifRe 2 EIGIC wwwi?{i*waﬁaﬁawmw
(b)) Mention two causes of disguised SRR AT L
unemployment in India. (e) What were the main objectives of
SIS RACT AR o1 PR Seard T Industrial Policy of 1991? Explain.
(c) Mention two objectives of Land Reforms y55> oA S et d4m TP
in India. wfee ?
? I AT
SR S AP 751 Sy Temmd 91|
(d) Write down two problems faced by large 4. Answer any three of the following questions :
industries of India. 10x3=30
ST 328 St TR CERT 71 S e | wers fran P R e Fofb Tes fora -
3. Answer any three of the following questions : (a) Discuss the trend of growth of tertiary
% 3= sector of India during the plan period.
5x3=15
ICGIGR LR PP ft e TR Seg e What are the main causes of increasing
: . importance of the tertiary sector? 6+4=10
{a) Explain briefly five basic features of f F 0 LR :
Indian economy. s HAfRFTAR IR O[S G/l 493 Jfad €[
SRON weRfST e gum BB o HCEADA T | ORI 499 FAEAR gFgd A4
RURUISIN ’ 4 IReR 0
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(4)

(b) Discuss the causes of slow growth of per
capita income of India during plan
period. 10

ARTF IR SHe wR wmE www
o FRPRR Ao <041 |

(c) Discuss the causes of inequality of
income in India. Suggest some
measures to improve the situation. 6+4=10

ST R SO FRDPMZ A 4 |
W@ﬁ%ﬁ@ﬁﬁﬂt&fﬁ?@ﬁwmml

(d) What are the major barriers to
agricultural growth in India? Discuss. 10

SIS I 3 20 4eT R B 2 e
bl

(e) Discuss the role of industrialization in
the economic development of a
developing economy like India. 10

SRS T TR SR i wef s
TS ST S Siceqmay 7o |

()  Give a critical appraisal of the industrial
development strategy of India in the
pre-reform period. 10
ART™IM PPTe  OReT g Sm
FPIER G AT TR S5_CGHE] |

* %
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